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Math Mode

o

o ITEX § mode wwizdmmsunsunsgansainsadiasaas (Soni1 math
mode

« math mode su1TnaauteluusIvadsItudaanulndle laailauazda
a8 \(uaz \) %39 $ uaz $ w39 \begin{math} usz \end{math}

[ math

Add a squared and b squared to

. Add $a$ squared and $b$ squared
get ¢ squared. Or, using a more d d

. to get $c$ squared. Or, usin
mathematical approach: 8 9 ) 8
2 2 erQ a more mathematical approach:
c=a

$c"2=a"2+b"2$

[ another math

TEX is pronouced as Tey. \TeX{} is pronouced as
\(\tau\epsilon\chi\) .\\[6pt]

100"m$"{3}$ of water\\[6pt]
This comes from my © This comes from my

100 m? of water

\begin{math}\heartsuit\end{math}

|




Display Math

o display math: NILRAIFUNIABACMAASLULLENLAUEENIINTaANUNE

o Haaviwaas \[ uaz \] w30 \begin{displaymath} uaz
\end{displaymath}

display math |

Add a squared and b squared to
Add $a$ squared and $b$ squared

get ¢ squared. Or, using a more ]
to get $c$ squared. Or, using

mathematical approach:
a more mathematical approach:

F=ad+ \begin{displaymath}
c {2}=a"{2}+b"{2}
or you can type less: \end{displaymath}
atb=c or you can type less:

\ [a+b=c\]

Equation

o tamdasmslanuiaasiinuaynis ITEX & environment equation Lianis

q

% lagqmonald \1abel uaz \ref iadsionauisiaagunisla

equation |

e>0 (1) \begin{equation} \label{eq:eps}

From (1), we gather ... \epsilon > 0

\end{equation}
From (\ref{eq:eps}), we gather
\1ldots

L]
uunn:




Math vs. Display Math

= a o . 1 o U 1
o M33e9fuilu math mode i display math azuanesiuineuesm izl
math mode dasdszndaiitafiuwady ldldussagainll

math
limp oo D py 1%2 — % $\1lim_{n \to \infty}
\sum_{k=1}"n \frac{1}{k"2}
= \frac{\pi~2}{6}$
display math
”oq 2 \[\lim_{n \to \infty}

nlgr;o 26 \sum_{k=1}"n \frac{1}{k 2}
k=1 = \frac{\pi~2}{6}\]

Math vs. Text

o 11 math mode:

\ ' o o wn o & | oA a ¢ A v v

— Faviwargnialasdaludd aoun deviviiguiuwaslifing dqmdasnis
szytadlnies Aswrsnldmas \, \quad w38 \qquad (389a2WnT
Anttaelluin)

' b

1 v = a > 1 ) k%
— ldhuganin Jeiusiiawswnsnnarsldla

o o '

e A ' | o = v ¥
— maﬂmtma:mnmuﬂumLL‘iJﬂuqmmaaums R HABINIILNIN

o

4aA21uNa19 math mode daalmasfias wwu \textrm{. ..}

text within math

\begin{equation}

>0 forallzeR (2)  *"{2} \geq O\qquad
\textrm{for all }x\in\mathbf{R}

\end{equation}




n159@Nna« 1w Math Mode

o 596199 T math mode znsz¥uanyszaa i

£y

v v o @ o a k2 &
« fguassnsinszinuanuIziaeas — lhasudnm {.. .}

grouping in math

\begin{equation}
B z+y

3
@ Fty#a 3) a"x+y \neq a"{x+y}

\end{equation}

asAlsznauaIgRIAtAFEnT

a =l Qs =3
¢ BNWININAAILAN:
\alpha, \beta, \gamma, . ..

> =) Q- 1]
. anwsninm’ﬂmy:
\Gamma, \Delta, ...

[ Greek Letters

ANE o, 0,P,Q $\lambda,\xi,\pi,\mu, \theta,
\Phi, \Omega$

asAlsznauvaIgnIAtadEns

o lavanmay: “{...}

e subscript: _{...}

‘ Exponents & Subscripts |
ax x? et ai; $a_{1}$ \gquad $x~{2}$ \qquad
e’ £ 2 $e~{-\alpha t}$ \qquad

$a_{ij} {3}$\\

$e"{x"2} \neq {e"x}"2%

L]
unnn:




avAlsznauvasgasAiadans

e square root: \sqrt{...}
o n'root: \sqrt[n]{...}

e surd: \surd — +/

[ Square root & Surd
NG m 2 $\sqrt{x}$ \qquad
VIz? + 7] $\sqrt{ x"{2}+\sqrt{y} }$
\qquad $\sqrt[3]1{2}$\\

$\surd[x~2 + y~21%

asAlsznauvaIgnIAtadEns

e bar:
\overline{...} — daun
\underline{...} — Taa19

=

o Innmiuwsu:
\overbrace{...} — Unnuun
\underbrace{. ..} — Unnas

‘ Bar & Brace
mIn $\overline{m+n}$\\
a+b4 -4z $\underbrace{a+b+\cdots+z}_{26}$
—_————
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avAlsznavvasgasAiaeaEns

o derivative/prime:

v =y ¥y =y

¢ mathematical accents:

\hat{a}

\check{a}
\tilde{a}
\acute{a}

Q¢ >

Qv D

" y, PRI y///
a \grave{a} a \bar{a}
a \dot{a} a \vec{al}
a \ddot{a}
a4 \breve{al}

Mathematical Accents I

$\bar{x} = \frac{i}{n} \sum x_i$\
$1\hat{u}l = 13

asAlsznauvaIgnIAtaAEns

e wide accents:

\widehat{xyz} — Tyz

\widetilde{xyz} — xyz

e vector:

— single variable:

\vec{a} — @

— wide vector:
—
\overrightarrow{AB} — AB
ik
\overleftarrow{AB} — AB




asAlsznauvaIgnIAtadEns

o MIG:

— dot: \cdot — -

— cross: \times — X
¢ MW

— @3aaew s \div — <+

— s \frac{dividend}{divisor}

‘ Mathematical Accents

A-B $\vec{AF\cdot\vec{B}$\\
Ax B $\vec{AF\times\vec{B}$\\
4+-2=2 $4\div2=28\\

z $\frac{x}{y+1}$

y+1

asAlsznauaIgRIAaAEnT

o Woridw:
\arccos \coth \gcd \limsup
\arcsin \sup \hom \1n
\arctan \csc \inf \log
\arg \deg \tanh \max
\sinh \det \ker \min
\cos \dim \1g \Pr
\cosh \tan \lim \sec
\cot \exp \liminf \sin

functions
I sin x _1 \[\lim_{x \rightarrow 0}
im0 @ \frac{\sin x}{x}=1\]

L=
unnn:




asAlsznauvaIgasAiaeans

e modulo:

— \bmod = binary modulo

— \pmod{n} = congruent modulo

‘ modulo
10 mod 3 =1 $10\bmod 3=1$\\
1=10 (mod 3) $1\equiv 10 \pmod{3}$

o mMIBawtadasnang: \stackrel{modifier}{op}

stack relation |

>
<I3

\[\rho \stackrel{\triangle}{=}
\frac{m}{V}\]

asAlsznauvaIgnIAtaAEnT

o integral: \int — [
o summation: \sum — Y

e product: \prod — []

BIG operators
n -z \begin{displaymath}

/0 H \sum_{i=1}"{n} \qquad
\int_{0}"{\frac{\pi}{2}} \qquad
\prod_{\epsilon}

\end{displaymath}




avAlsznauaIgaIAaEEnT

« BIG operator 5uﬂ:

I \coprod ¢ \oint Q@ \bigotimes
U \bigcup \/ \bigvee (O \bigodot
(1 \bigcap /\ \bigwedge ¥} \biguplus
] \bigsqcup P \bigoplus

BIG operators
& _-7{ Lo \begin{displaymath}
" s \Phi_{E} = \oint_{S}
\vec{E}\cdot \mathrm{d}\vec{S
\end{displaymath}

asAlsznauvaIgnIAtaAEns

o MIEIEY

— 238udnm
—\{...\}

‘ brace

a7 b7c # {a’ b'/ C}

${a, b, c} \neq \{a, b, c\}$
|

— idulng FEwmawedaludd)
— \left(open-delim). . . \right(close-delim)
— tazldldrafula — 14 “\right.”

parentheses

1— 22 1 + \left(%
\frac{1}{1-x"2}%
\right)"3
\end{displaymath}

( 1 )3 \begin{displaymath}
14




avAlsznavvasgasAiaeans

9 [
o MIlFEY

— MIMAUATHIANLRUULLIAIZA
— \big(delim), \Big(delim), \bigg(delim), \Bigg(delim)

big parentheses

((z + 1) (z - 1))* \[\big( (x+1) (x-1) \big)"{2}\]
z z \[\int_0~\frac{\pi}{2} \cos x\,dx
}ﬁ cosxdr = sinz . =1 = \sin x \biggl_0~\frac{\pi}{2}
= 1\]
<(<(()))>> \[\Bigg (\bigg (\Big (\big((\cdoty,

)\big)\Big) \bigg) \Bigg)\]

{ { { ( {_}}}}} \[\Bigg\{\bigg\{\Big\{\big\{\{\cd %
\N\big\F\Big\}\bigg\}\Bigg\}\]

\[\Bigg|\bigg|\Big|\bigl |\cdot’
'“!-H(H |\big|\Big|\bigg|\Bigg|\]

asAlsznauvasgasAiaeans

« Yalzdan:

— uwusIe: \ldots — ...

naWusINe: \cdots — ---

widde: \vdots — -

— uwnzued: \ddots —

three dots
\begin{displaymath}
T1,..., 20 z+1+4+- 4z, x_{1},\1dots,x_{n} \qquad
x+{1}+\cdots+x_{n}
\end{displaymath}
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asAlsznauvaIgnIAtadans

o BBIIN:
— \,=%quad
L _ 4
— \: = 75 quad

-
— \; = 75 quad

— \yu = gasinvewiadné
— \quad = A1UNIIGI M

— \gqquad = 2 quad

—\! =—1% quad

asAlsznauvaIgaIAtaAEns

dre9msiaradlnlu math mode

spacing |
" \newcommand{\ud}{\mathrm{d}}
// 9(z,y) dz dy \begin{di
D egin{displaymath}
instead of \int\!'\!'\!\int_{D} g(x,y)
g \, \ud x\, \ud y
//Dg(x,y)dxdy \end{displaymath}

instead of

\begin{displaymath}
\int\int_{D} g(x,y)
\ud x \ud y
\end{displaymath}
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asAlsznauvaIgaIAtadans

o MIIALTIlUUIIAG

— 1a%83dafild — environment array (M3kFauimdouny tabular)

metrix

T11 T12

\begin{displaymath}
X = \left[
\begin{array}{ccc}
x_{11} & x_{12} & \ldots \\
x_{21} & x_{22} & \ldots \\
\vdots & \vdots & \ddots \\
\end{array}
\right]
\end{displaymath}

avAlsznauaIgRIAAAEnT

o o a '
o M3a3aluuwfi (da)

a ife>0
Yy = b+x ife=0
l ife<O

cases
\begin{displaymath}
y = \left\{
\begin{array}{11}
a & \textrm{if $c>0$}\\
b+x & \textrm{if $c=0$}\\
1 & \textrm{if $c<O$I\\
\end{array}
\right.
\end{displaymath}

12




asAlsznauaIgaIAaAEnT

o o a '
o M3va3aluuwdi (da)

grid
112 \begin{displaymath}
< 3] 4 ) \left(
\begin{array}{clc}
1&2\\
\hline
3 & 4\\
\end{array}
\right)
\end{displaymath}

asAlsznavuvagnIAtadEns

o o a '
o M3va3sluumfi (da)

binomial coefficient

\begin{displaymath}
(n>:"C _ n! \bigg (\!\!
"orl(n—r)! \begin{array}{c}
n\\r

\end{array}
\!'\!\bigg)
{} n\mathrm{C}_r
\frac{n!}r!\, (n-r) '}
\end{displaymath}

13




asAlsznavvasgasaiaeans

o A a '
o MITaSIluumIfg (da)

— package amsmath K1015ORUN binomial coefficient @218

\binom{n}{r}
binomial coefficient
\begin{displaymath}
ny\ ne n! \binom{n}{r} = {} "n\mathrm{C}_r
r "ol (n—r)! = \frac{n!Hzr!\, (n-r) '}
\end{displaymath}

asAlsznauvasgasAiaeaEns

o MITATLIRUNITIUUWIAS
— 1389UDIRUNIIAIY environment eqnarray %3a eqnarray* Unu
equation
— egnarray :l¥manglauiinuauni1saay ud egnarray* la
— tftavnlu environment Nigavazigiionaglu array Arvualiidu {rcl}

< o v
— AUADRNUAILY &

— WUIIHae \\

14




asAlsznauvasgasAiaeaEns

o MITAFBIFUMTIUUWIAG (D)

equation array |

\newcommand{\ud}{\mathrm{d}}
f(z) = cosz (4) \begin{eqgnarray}
/ . f(x) & = & \cos x \\
= — S 5
- @) sine (5) £f2(x) & = & -\sin x \\
/O fly)dy = sinz  (6)  \int_{0}"{x} £(y)\,\ud y &
= & \sin x

\end{eqnarray}

asAlsznauYaIgaIAtAAEAT

o MITATLIFUMTIUUUWIAT (D)

al a o  add
— WagunInLNuLIIMe (359 1)
— GBINRAULILIINALEY

— RYAMINMAVLATIUMT AI8A189 \nonumber

* FoafunlasdaussiiatasaInged array

equation array

\begin{egnarray}
Gng = oL \sin x & = & x-\frac{x"{3}}{3!}
b8 Afrac{x"{5}}{5!}
_.%T.+... (7) \nonumber\\
’ & & {3-\frac{x"{7}}{7!'}+\cdots
\end{egnarray}

15




avAlsznauvasgasAiaeans

o MIIASBIFUMTIUUWIGS (dB)

a a o  aad
— WarumsuiuysIme 301 2)
P aad 9 2o o o w o
— wmlowdsh 1 udlddas \lefteqn{. ..} dminusiausn

— AF0INANY = 219 PATINURNNITA

equation array

\begin{egnarray}
cosz =1 — {; \leftegn{ \cos x =1
L2 -\frac{x"{2}H2!} }
T T
+,ZT _ 6?A+... (8) \nonumber\\

& & {}+\frac{x"{4}}{4'}
-\frac{x"{6}}{6!}+\cdots
\end{egnarray}

asAlsznauvaIgaIAtaAEnT

o MITAFLIFUMTIUUWIAT (D)

a a o aad
— LWARUNTYNMUNUUIING (1N 3)
L £ oA . . o o
— 14 package amsmath &3 environment split tWanNIILaNUIING
§UN1I
— 1 package amsmath £33 environtment 8
- multline wesnussnasunisuuvlaiFaaluumaifs

- align MunguaNNIsUULSEIluuwIG

- gather »ungusumuuulaiGealuuwide

16




asAlsznauaIgRIAaAEnT

o MITAFLIFUMTIUUWIAY (D)

a a o aad
— LUARUNIIYNILNULIING ('J‘ﬁqfl 3) (@]a)

equation array

\begin{equation}
cost =1— ﬁ \begin{split}
42! 6 9) \cos x & =1
+ % - %, +oe -\frac{x"{2}}H2! 1\

& \quad {}+\frac{x"{4}}{4!}
-\frac{x"{6}}{6!}+\cdots
\end{split}
\end{equation}

Phantom

o Phantom () Aefefivaslaifiv udiifiegluiale
o §%5U ITEX ud Phantom l3Awiad ualddaingluanas

— 158u trick 1un1339@ space lunsdial BTEX uimsainuly

phantom in isothope
\begin{displaymath}
{}~{12}_{\phantom{1}6}\textrm{C

\qquad\textrm{versus}\qquad

{3~{12}_{6}\textrm{C}
\end{displaymath}

12 12
6C versus ¢ C

phantom in exponent separation

\begin{displaymath}
\Gamma_{ij}"{\phantom{ij}k}
\qquad\textrm{versus}\qquad
\Gamma_{ij}"{k}

\end{displaymath}

k k
| versus I

17




Math Font

« s math mode, ITEX ldWauduuiadrsg awuSun 11w subscript 1562180
o & \textrm{. ..} Hun13aaulUds text mode lavdFuwmanaudaie

— ladasld \textrn lumtmuanendlugas (diunsunsndonnulnd
LYITEL)

o MFIAaNWaUGLY math mode:

\mathrm{ABxy} ABxy \mathsf{ABxy} ABxy
\mathnormal{ABxy} ABzxy \mathtt{ABxy} ABxy
\mathcal{ABxy} ABSgt \mathit{ABxy} ABuxy

\mathbf{ABxy} ABxy

Math Font

& > o & & v o o
e UNAW ﬂm@adﬂ’liﬂiﬂﬁvl@lﬁLLR&“].I%’I@]WE]‘H@] AILAR:

— \displaystyle — 123

\textstyle — 123

— \scriptstyle — 123

\scriptscriptstyle — 123

18




Math Font
math font
corr(X,Y) = —— Lo (i Eﬂ)(yl ) 72
[Zizl (zs —T)? 21:1 (yi — ?)2]
\begin{displaymath}
\mathop{\mathrm{corr}}(X,Y)=
\frac{

\sum_{i=1}"n(x_i-\overline{x})

(y_i-\overline{y})}

{\left[
\sum_{i=1}"n(x_i-\overline{x}) "2
\sum_{i=1}"n(y_i-\overline{y}) "2

\right]~{1/2}}

\end{displaymath}

Math Font
displaystyle
> (@i —2)(yi —7)
corr(X,Y) = - =1 - 73
D @i—1)> (i —7)°
i=1 i=1
\begin{displaymath}

\mathop{\mathrm{corr}}(X,Y)=
\frac{\displaystyle

\sum_{i=1}"n(x_i-\overline{x})
(y_i-\overline{y})}
{\displaystyle\left[

\sum_{i=1}"n(x_i-\overline{x}) "2

\sum_{i=1}"n(y_i-\overline{y}) "2
\right]~{1/2}}
\end{displaymath}
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Theorem

o luanssnmsedlamaad qususnsiungueiunlesiiaisvfnulesdalud@
vLa«I v A A da T s
a laglfiaTasdafisund “theorem

¢ theorem mmmﬁvlﬁﬁaw’q@ L% e “Theorem,” “Definition,” “Axiom,”
4 o
“Lemma,” ... DIFTUULRVLENNH

o M3minua theorem udazga ldassalditlu preamble:

\newtheorem{namel} [counter] {text} [section]

tﬂ. d! vy =3
— name = Toga theorem Hyazlddrvfisluianans
a a 4o [ | o & a Y
— counter = Taga theorem dufiimualiudr@sazivisudugaidoanu
— text = Toya theorem fiazUsnglutansns

— section = counter 192 prefix LAZMIRUAVDLLIANITHULAY theorem LT
section BN18HINT prefix @28La section waziIuniy 1 Inailadn

section ln

Theorem

A o 1 Y o 1Y
o \flafmina theorem ¢1g \newtheorem w3 quau130ld name lun1sgi

theorem Tuganug lagldyuuu:

\begin{name} [text]
tdau theorem . . .
\end{name}

— test \Iudannuiazlfiduge theorem Gsazdingdaanvuisia

theorem

20




Theorem

‘ theorem

Law 1 Don’t hide in the witness

box

Jury 2 (The Twelve) In could

be you! So beware and see Law 1

Law 3 No, No, No

% in the preamble
\newtheorem{law}{Law}
\newtheorem{jury} [law]{Jury}

% in the document

\begin{law} \label{law:box}
Don’t hide in the witness box

\end{law}

\begin{jury}[The Twelvel]
In could be you! So beware and
see Law™\ref{law:box}

\end{jury}

\begin{law}
No, No, No
\end{law}

Theorem

‘ theorem

Murphy 7.1 If there are two or
more ways to do something, and

one of those ways can result in a
catastrophe, then someone will do
it.

% in the preamble

\newtheorem{mur}{Murphy} [section]

% in the document

\begin{mur}
If there are two or more
ways to do something, and
one of those ways can result
in a catastrophe, then
someone will do it.

\end{mur}

21




o nsltsyanvoladiacaasainuwily BTEX doudregsnn:
— @& \mathbf{...}
— 'ldé1 roman(upright) wdgaslu math mode Un@iluda italic

— |4 \boldmath ¢
— 1#lauan math mode 1554

bold symbols

\begin{displaymath}
wM  pM o op, M

\mu, M \gquad

\mathbf{\mu, M} \gquad

\mbox{\boldmath $\mu, M$}
\end{displaymath}

SaanwataIvmw

o

« lu package amsbsy (include 310 amsmath lasdaluiia) dd1de

\boldsymbol{...}

bold symbols

M M \begin{displaymath}
Hs H,

\mu, M \gquad
\boldsymbol{\mu}, \boldsymbol{M
\end{displaymath}

22




8 mIunsnyUmw

tufin:
nsunsnsunn
o BTEX fidddmiunaglludies udsndmiudisudu
— il insert guanlisunTuEn
o quuufl BTEX sviuayu: EPS (Encapsulated Postscript)
« Tsunsufimunsnass EPS 16
— xfig — dia
— tgif — gnuplot
o &l PDFIATEX gunwilaiuayuiauuy JPEG, PNG, MetaPost uaz PDF
Uufin

nsunsngunn

 package graphicx (Eﬁdtﬂumummmad package graphics)

\usepackage [driver] {graphicx}

— driver fa%aldsunsuflEaan1s output daan KTEX el KTEX alé
Hegunmlngduunfmanzay

o U A

— ¢ driver Un@ndnldfide dvips wingmls PDFIATEX qmetalden

pdftex

— awUn@ quai3zy driver wwue winlaszy — package graphics az'ly

gua1Un@a N configuration Wa9TzUY

23



nsunsnsunn

o AMFIWNINFUNW

\includegraphics [key=wvalue,. ..1{file}

— file fafoludn@Aniidasnis

— @1 optional argument key fan13901193U Femursnasdeineg deldille
« width domegUlildanunhefidmua
« height da/pesllnldanugefisinua

= a o
* angle W&!ugﬂﬂqw‘ﬂqu“ﬂN%Wﬁﬂ']@]']naﬂﬁ']'ﬂﬂ'w‘%(ﬂ

*

scale do/agglagsnmansinuesg

nsunsnsdnn

e 628819

‘ graphics

How much wood could a
How much wood could a woodchuck

chuck if a woodchuck could

woodchuck chuck if a woodchuck

chuck wood
could chuck wood \includegraphics
[width=.2\1linewidth]

{images/question.pdf}

24




nsunsnsunn

o 628879

\ graphics

How much wood could
a woodchuck chuck if a

woodchuck could chuck

wood?

\begin{tabular}{lc|}
\hline
\includegraphics
[width=.2\linewidth]
{images/question.pdf}
\begin{minipage}{.7\linewidth}
How much wood could a woodchu
chuck if a woodchuck could
chuck wood?
\end{minipage}\\
\hline
\end{tabular}
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